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Argument Structure

Here is an example of a typical GMAT argument.

S1: Background

The expansion of the runways at the Bay City Airport will allow
S2: l\for larger planes to travel to and from Bay City. These new
Counterpoint | \planes will create a large amount of noise, a nuisance for

residents who live near the airport. However, many of the S3: Premise
residents in this neighborhood work in construction, and the
contract to expand the runways has been awarded to a local
construction company. Thus, the expansion of the runways will
lead to an increased quality of life for the residents of this

neighborhood.
S4: Conclusion

There are two broad things we need to study in order to answer Critical Reasoning questions effectively
and efficiently. We need to understand the specific information given for that question, and we also
need to know how to conduct the necessary reasoning to answer a question of that type.

Let’s begin first by understanding what we are given. What are the pieces of an argument, how do they
fit together, and how do we categorize them propetly? In later chapters, we’ll talk about what we need to
do with that information.

On the GMAT:

(1) All arguments contain at least one premise. A premise is information used by the author to support
some claim or conclusion. That information may be a fact or an opinion. In the above example, sen-
tence 3 is a premise because it helps to support the author’s conclusion.

13
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Argument Structure

(2) Most (though not all) arguments contain a conclusion, the primary claim the author is trying to

prove. In the above example, sentence 4 is a conclusion.

(3) Many arguments (though not all) contain background information, which provides context to al-

low us to understand the basic situation. In the above example, sentence 1 provides background.

(4) Some arguments contain a counterpoint or counterpremise—a piece of information that goes

against the author’s conclusion. In the above example, sentence 2 represents a counterpoint because it

oes against the author’s conclusion.
g &

Collectively, these categories represent the building blocks of an argument. How do we know which

sentences fall into which categories? Try to articulate your own thought process for the above argument,

then take a look at this example “decision process” of a fictional student:

Argument

Reader’s Thoughts

The expansion of the runways at the Bay City
Airport will allow for larger planes to travel to
and from Bay City.

Hmm. This is a fact. It could be premise or it
could just be background. I'm not sure yet.

These new planes will create a large amount of
noise, a nuisance for residents who live near the
airport.

Now we’re moving into claim territory. Something
negative will come from this project. Why are they
telling me this? I can’t figure that out until I know
the conclusion.

However, many of the residents in this neighbor-
hood work in construction, and the contract to
expand the runways has been awarded to a local
construction company.

The word “however” indicates a contrast between
sentences two and three. What's the contrast?

The noise is a negative consequence of the expan-

sion, while winning a work contract is a positive

consequence. Looks like I've got a premise and a

counterpoint in these two sentences, but I don’t

know which one is which yet.

Thus, the expansion of the runways will lead to
an increased quality of life for the residents of

this neighborhood.

The word “thus” usually indicates a conclusion.
And, yes, this does seem like a conclusion— this
project will have a certain outcome (better quality
of life in this neighborhood), and I can now see how
the previous two sentences fit into this conclusion.
Sentence 3 is a premise because it tells me one way
in which the quality of life might be better for these
peaple (they might make more money), and sentence
2 is a counterpremise because it tells me a nega-
tive consequence.

. MANHATTAN
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Notice how many times the reader thought “I'm not sure yet” (or something along those lines). That
will happen frequently while reading an argument. We’re gathering information and trying to under-
stand what each piece might be, but we won'’t really know how everything fits together until we know

what the conclusion is—and that might not be until the end.

The Core

The premise (or premises) and conclusion represent the core of the argument. Remember that not all

arguments will have a conclusion, but all will have at least one premise, so we will always have at least a
partial core. The core represents what the author is trying to tell me or prove to me.

It’s important for us to be able to identify what specific information in an argument falls into which
category, because that helps us to take our next step: conducting the necessary reasoning in order to
answer the question. It turns out that different question types require us to perform different kinds
of reasoning; we’ll discuss this in much more detail in subsequent chapters. Let’s take one step now,
though, just to whet our appetites: how do the premises support the conclusion? In other words, how
does the “core” actually function in this particular argument?

In this problem, our core consists of these two pieces:

However, many of the residents

in this neighborhood work in Thus, the expansion of the
construction, and the contract ‘ runways will lead to an increased
to expand the runways has been ‘ quality of life for the residents of
awarded to a local construction this neighborhood.
company.

The conclusion, on the right, claims that the runway expansion project will have a good outcome (bet-
ter quality of life for certain people). The premise, on the left, provides one piece of information to sup-
port this claim: the people in question may make money as a result of this project.

The premise provides one piece of evidence toward a positive outcome, but the argument is not air-
tight. For example, do we know for sure that the residents of the neighborhood are the ones who work
for the local construction company that won the contract? We don’t. As we’ll see, that kind of thinking
will help us when we get to the question-answering stage. For now, remember this: when we have both
a premise and a conclusion, it’s critically important to understand ow the premise supports the conclu-

sion.

MANHATTAN
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Building Blocks of an Argument

Premise

Condusion

Background

Let’s fully define all of the building blocks we’ve discussed so far.

Part of the core of the argument; present in every argument

Supports the author’s conclusion

Can be a fact or an opinion; can be a description, historical information, statistical or
numerical data, or a comparison of things

Often signaled by words or phrases such as because of; since, due to, and as a result of

Part of the core of an argument; present in most arguments

Represents the author’s main opinion or claim; can be in the form of a prediction, a judg-
ment of quality or merit, or a statement of causality

Is supported by at least one premise

Often signaled by words such as therefore, thus, so, and consequently (though note that
harder arguments might use such a word elsewhere in the argument in an attempt to
confuse us)

Not part of the core; often present, but not always

Provides context to help understand the core

Almost always fact-based; can be in almost any form: historical information, numerical or
other data, descriptions of plans or ideas, definitions of words or concepts, and so on

Counterpoint

Not part of the core; only present occasionally

Opposes or goes against the author’s conclusion in some way

Introduces multiple opportunities for traps: believing that the conclusion is the opposite
of what it is, mistakenly labeling a counterpoint the premise (and vice versa), and so on
Often signaled by transition words such as however, yet, and but; typically, the transition
word will be found somewhere between the counterpremise and the conclusion (though
the two sentences may not be right next to each other)

MANHATTAN
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Argument Structure

The argument above used all four of our building blocks; its “structure” looks like this:

Background — Counterpoint — Premise — Conclusion

We call that the structure because it shows the building blocks used and the order in which each ap-
peared. The simplest possible argument will contain only premises; its structure might look like this:

Premise — Premise

The GMAT can vary the type of building blocks used in a particular argument, and it can also vary
the order of those building blocks. If we can label the building blocks given in any particular argument,
that helps us to understand the purpose of each step in the chain of information, and we’ll be one good
step closer to answering the question correctly.

Let’s try some sample arguments. You have two tasks. First, read the argument and try to identify the
role of each sentence or major piece of information (note that one sentence could contain two different
pieces of information). Use that information to write out the structure as we just did above. Second, try
to articulate in your own words how the premises support the conclusion.

1. Budget Fitness will grow its membership base by 10% in the next six
months. Budget Fitness has recently crafted a clever ad campaign that it
plans to air on several local radio stations.

2. Lastyear, the Hudson Family Farm was not profitable. However, the farm will
be profitable this year. The farm operators have planted cotton, rather than
corn, in several fields. Because cotton prices are expected to rise dramati-
cally this year, the farm can expect larger revenues from cotton sales than it
previously earned from corn.

Answers can be found on page 21.

Intermediate Conclusions and the Therefore Test

We have one more building block to introduce in this chapter. Try the below problem.

The owner of a small publishing company plans to lease a new office space that
has floor-to-ceiling windows and no internal walls, arguing that the new space
will enhance worker productivity. The owner cites a recent study showing that
workers exposed to natural light throughout the day tended to report, on aver-
age, a higher level of job satisfaction than did those who worked in office spaces

MANHATTAN
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that used fluorescent lighting. Thus, the owner concluded, exposure to natural
light has a positive effect on workers’ job satisfaction.

The owner of a small publishing company plans
to lease a new office space that has floor-to-ceil-

ing windows and no internal walls,

This is likely to be background information because
it introduces a “plan” to do something. The argument
is probably about the plan, or a result of the plan.

arguing that the new space will enhance worker
productivity.

This might be the conclusion because it describes the

predicted future benefit of the company’s plan.

The owner cites a recent study showing that
workers exposed to natural light throughout the
day tended to report, on average, a higher level
of job satisfaction than did those who worked in
office spaces that used fluorescent lighting.

And this seems to be a premise in support of that
conclusion. The workers will be more productive be-
cause the new space will provide exposure to natural
light through the floor-to-ceiling windows.

Thus, the owner concluded, exposure to natural
light has a positive effect on workers’ job satisfac-

tion.

Hmm, this is strange. This appears to be the conclu-
sion as well. It uses the word “thus,” it represents an
explanation for the study’s results, and it even says
that “the owner concluded” this!

This is a tough one! In this case, we have fwo claims that look like the conclusion. Now what?

This brings us to another building block, the intermediate conclusion (also known as the secondary

conclusion). What is an intermediate conclusion? Look at this simpler example:

The burglar is clumsy and often makes a lot of noise while robbing homes. As a
result, he is more likely to get caught. Thus, in the near future, he will probably

end up injail.

The first sentence is a basic premise: it tells us some factual information about the robber. The second

sentence is a claim made based upon that premise: because he makes noise, he is more likely to get

caught. This is a conclusion... but, wait, there’s a third sentence! That third sentence also contains a

claim, and this claim follows from the previous claim: because he is more likely to get caught, there is a

good chance he will end up in jail.

Essentially, a premise supports a conclusion, and that conclusion then supports a further conclusion.

The first conclusion is called the intermediate conclusion (also known as the secondary conclusion).
The second conclusion can be called the final conclusion to distinguish it from the intermediate conclu-

sion.

In the example above, the three pieces were given in this order: Premise — Intermediate Conclusion

— Final Conclusion. Arguments won't always do this, however; they might mix up the order and have
additional information thrown in. When an argument contains more than one conclusion and we’re not
sure how to classify each, we can use the Therefore Test.

s MANHATTAN
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We have two conclusions; let’s call them 4 (he’s more likely to get caught) and B (he will probably end
up in jail). All we need to do is plug the two conclusions into two sentences and ask which one is true:

Is it the case that 4 (he’s more likely to get caught) is true, THEREFORE B (he will
probably end up in jail) is true?

Or is it the case that B (he will probably end up in jail) is true, THEREFORE 4 (he’s
more likely to get caught) is true?

What do you think? Right, the first scenario makes sense, but the second one doesn’t. That tells us that
B (he will probably end up in jail) is the final conclusion and 4 (he’s more likely to get caught) is the
intermediate conclusion.

Let’s return to the job satisfaction argument. We have two possible conclusions:
(A) ...arguing that the new space will enhance worker productivity.

(B) Thus, the owner concluded, exposure to natural light has a positive effect on work-
ers’ job satisfaction.

Which scenario makes more sense?

The new space will enhance worker productivity, THEREFORE exposure to natural
light has a positive effect on workers’ job satisfaction.

OR

Exposure to natural light has a positive effect on workers’ job satisfaction, THERE-
FORE the new space will enhance worker productivity.

The second scenario seems to make sense. That means that (B) is the intermediate conclusion and (A4) is
the final conclusion.

As is typical of arguments with an intermediate conclusion, the premise supports the intermediate con-
clusion, which then supports the final conclusion. The premise (the second sentence) says that a study
found a correlation between natural lighting and job satisfaction. The third sentence in that argument
then makes a claim based on the study’s results: the owner (not the study) concludes that exposure to
natural light actually causes better job satisfaction.

The owner claims that the new space will enhance productivity at her company because, first, a study
showed a correlation between natural light and job satisfaction, and that study then led the owner to
conclude that natural light results in better job satisfaction. So the first half of the first sentence is back-
ground, and the second half is the final conclusion.

The structure is Background — Conclusion — Premise — Intermediate Conclusion.

MANHATTAN
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Takeaways

A premise is a piece of evidence (fact or claim) that supports the author’s conclusion.

A (final) conclusion is the author’s main claim.

An intermediate conclusion is both a conclusion and a premise; it supports the final conclusion.
Background information helps to set the context for an argument.

A counterpoint or counterpremise goes against the author’s conclusion.

We can use these building blocks to understand the structure of an argument. Understanding the struc-
ture will help us to answer the question.

When we have more than one conclusion, we can use the Therefore Test to find the final conclusion.
Either “A is true, THEREFORE B is true” or “B is true, THEREFORE A is true.”

o MANHATTAN
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Chapter 1

Budget Fitness will grow its membership base by
10% in the next six months.

Budget Fitness has recently crafted a clever ad
campaign that it plans to air on several local
radio stations.

This is a prediction about the future, so it is a
claim, not a fact. This is a good candidate to be the

conclusion.

Budget Fitness already crafted the campaign— this
is a fact. It is also a fact that the company currently
“plans” to air the campaign (though whether it
will actually air is uncertain, since that is a future
event). This information supports the claim in the
first sentence, so it is a premise.

(Task 1) The structure is Conclusion — Premise. (Task 2) The author claims that the gym will increase
its membership in the future because the company will implement a strategy (ad campaign) that may

help attract new customers.

2.

Last year, the Hudson Family Farm was not
profitable.

However, the farm will be profitable this year.

The farm operators have planted cotton, rather
than corn, in several fields.

Because cotton prices are expected to rise dra-
matically this year, the farm can expect larger
revenues from cotton sales than it previously

earned from corn.

This is a fact; it already occurred in the past. This
may be background info, though it may also be a
premise or counterpoint.

The word “however” indicates a change in di-
rection. This prediction is the opposite of what
happened last year. This future prediction is a good
candidate to be the conclusion, in which case the
previous sentence would be a counterpoint.

Hmm, why do we care which crop the farm is
planting?

Okay, now we can see that planting cotton will
lead to more revenue than last year. The author is
using this information to support his conclusion.

(Task 1) The structure is Counterpoint — Conclusion — Premise — Premise. (Task 2) The argument
predicts that an unprofitable farm will become profitable because a change in crops will result in higher

revenues.

Did you spot any flaws in the author’s reasoning? There are several, but the biggest one is the fact that
revenues and profits are not the same thing! A company can have lots of revenue and zero profit—or

even lose money.

MANHATTAN
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Chapter 1

Read the argument and try to identify the role of each sentence or major piece of information. Use that

information to write out the building block structure.

1.

A program instituted by a state government to raise money allows homeowners to
prepay their future property taxes at the current rate. Even if the government were
to raise the tax rate in a subsequent year, any prepaid taxes would allow the home-
owner to maintain taxes at the lower rate, lowering the overall property tax burden
over time. For this reason, homeowners should participate in the program.

Tay Sachs disease, a usually fatal genetic condition caused by the build-up of gan-
gliocides in nerve cells, occurs more frequently among Ashkenazi Jews than among
the general population. The age of onset is typically six months and generally results
in death by the age of four.

Some critics have argued that the price of food and drink at Ultralux, a restaurant, is
too high, given its quality. However, Ultralux features a beautiful interior and com-
fortable seating, and research has shown that consumers actually enjoy food and
drink more in such a setting, even when the food and drink is of comparable quality
to that served elsewhere. Thus, the food and drink at Ultralux is reasonably priced.

Editorial: To stem the influx of illegal immigrants, the government is planning to
construct a wall along our entire border with Country Y. This wall, however, will do
little to actually reduce the number of illegal immigrants. Because few economic op-
portunities exist in Country Y, individuals will simply develop other creative ways to
enter our nation.

The cutback in physical education is the primary contributing factor to North High
School’s increasing failure rate on the year-end physical fitness examination. Last
year, when students participated in gym class on a daily basis, 85 percent of the
school’s seniors passed the exam. This year, students had gym class twice weekly,
and only 70 percent of seniors passed the test. Clearly, fewer sessions of gym class
lead to reduced fitness.

MANHATTAN
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Solutions

1.

A program instituted by a state government to
raise money allows homeowners to prepay their
future property taxes at the current rate.

Even if the government were to raise the tax rate
in a subsequent year, any prepaid taxes would
allow the homeowner to maintain taxes at the
lower rate, lowering the overall property tax bur-
den over time.

For this reason, homeowners should participate in
the program.

This is a fact. It sounds like background, though it
could be a premise— I'm not sure yet. People can
choose to pay future taxes right now at the current
tax rate. [I'd only want to do this if it saved me
money.]

Ab, here’s how it could save me money. This is a
premise. If taxes go up but I've already pre-paid,

I don'’t have to pay more; I got to pay at the lower
rate. [What if tax rates go down? What if I sell my
house?]

Conclusion: people should participate. I've already
thought of a couple of reasons why it could NOT be
a good idea. k

The structure is Background — Premise — Conclusion. The author concludes that people should par-
ticipate because they would save money if taxes go up.

2.

Tay Sachs disease, a usually fatal genetic condi-  This is a fact. It’s so general that it sounds like back-

tion caused by the build-up of gangliocides in ground info, though it could be a premise.
nerve cells, occurs more frequently among Ashke-
nazi Jews than among the general population.

The age of onset is typically six months and gen-  This is also a fact— just more information about
erally results in death by the age of four. this disease. That'’s interesting. There’s no conclusion

here, just two facts. Both are premises.

The structure is Premise — Premise. The argument concludes nothing. (Note: two types of questions
lack conclusions: Inference and Explain a Discrepancy. We’ll discuss these later in the book.)

3.

Some critics have argued that the price of food “Some critics” criticize the restaurant Ultralux for

and drink at Ultralux, a restaurant, is too high, being too expensive. The language “some critics” is
often used in counterpoints; later, the author will

often tell us something else that the author or others

given its quality.

believe instead.

This seems to be pointing out a good t/aing’about
Ultralux.

However, Ultralux features a beautiful interior
and comfortable seating,

MANHATTAN
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and research has shown that consumers actually  And this tells us why the beautiful interior and

enjoy food and drink more in such a setting, even

comfortable seating are beneficial. If we enjoy the

when the food and drink is of comparable quality food and drink more, then perhaps we’re willing to

to that served elsewhere.
Thus, the food and drink at Ultralux is reason-
ably priced.

pay more money?

This looks like a conclusion. In fact, it directly
contradicts the critics’ argument in the first sentence,
which we now are sure is a counterpoint.

The structure is Counterpoint — Premise — Premise — Conclusion. The author concludes that Ultra-

lux is reasonably priced because research demonstrates that certain beneficial aspects provided by the

restaurant are valuable to the consumer.

4.

Editorial: To stem the influx of illegal immi-
grants, the government is planning to construct a
wall along our entire border with Country Y.

This wall, however, will do little to actually re-
duce the number of illegal immigrants.

Because few economic opportunities exist in
Country Y, individuals will simply develop other
creative ways to enter our nation.

The government plans to construct a wall and
claims that this will reduce the number of illegal
immigrants. This could be the conclusion, but the
sentence also starts with the word “Editorial,” imply-
ing that someone with a point of view is writing this
argument. I'll have to see whether that person gives
a different opinion or claim.

“However!” Okay, whoever’s writing the editorial
thinks that the government’s plan is not going to
achieve its objective. This is the conclusion, so the
previous sentence must be a counterpremise.
“Because”—and here’s the reason why the Editorial
writer thinks this: these illegal immigrants have no
real opportunities in their own country, so they will
Just search for other ways to get into the neighboring

country.

The structure is Counterpoint — Conclusion — Premise. The author concludes that the government’s

plan won’t work because the people trying to immigrate illegally will just search for other ways to do so,

since they don’t have many opportunities in their home country.

5.
The cutback in physical education is the pri-
mary contributing factor to North High School’s
increasing failure rate on the year-end physical
fitness examination.
Last year, when students participated in gym class
on a daily basis, 85 percent of the school’s seniors
passed the exam.

MANHATTAN
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This is an opinion, so it could be the conclusion. The
school isn'’t offering as much physical education as it
used to, and the author claims that this is causing
more students to fail a physical fitness exam.

Fact. Last year, they had gym class daily, and the
vast majority of students passed the exam.
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This yéar, students had gym class twice weekly,  Fact. This year, they had gym class less frequently,

and only 70 percent of seniors passed the test. and a smaller percentage of students passed the
exam.

Clearly, fewer sessions of gym class lead to re- Here’s another claim. Having fewer gym classes

duced fitness. causes reduced fitness levels. Is this the conclusion?

What about the first sentence?

I need to use the Therefore Test. A= cutback in gym is causing more kids to fail the fitness exam. B = cutback
in gym causes reduced fitness.

Is it the case that cutbacks in gym are causing kids to fail the exam, THEREFORE those cutbacks are causing
reduced fitness?

Or is it the case that cutbacks in gym are causing reduced fitness, THEREFORE those cutbacks are causing
more kids to fail the fitness exam?

It'’s the second option— first, the kids have reduced fitness, and then that causes them to fail the fitness exam.
So the first sentence is the final conclusion, and the last sentence is just an intermediate conclusion.

The structure is Final Conclusion — Premise — Premise — Intermediate Conclusion. The author con-
cludes that gym cutbacks are causing kids to fail the fitness exam because this year’s seniors had fewer
gym classes, leading to reduced fitness levels which, in turn, caused more kids to fail the exam.

MANHATTAN
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Step 1: Identify the Question

Step 2: Deconstruct the Argument
Step 3: State the Goal

Step 4: Work from Wrong to Right

How to Abbreviate
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Metodolbgy

In Chapter 1, we introduced arguments, discussed their building blocks, and examined how to “de-
construct” an argument in order to understand how the pieces of information are related. These tasks

represent the first two steps of our overall 4-step approach for any Critical Reasoning problem.

Before we dive into our 4-step process, let’s discuss what we don’t want to do. While there is a lot of
flexibility in how different people can work their way through the same problem, there are some ap-
proaches that are downright bad, such as this one:

Read the argument pretty quickly, don’t take notes, don’t understand the “big picture”
Read the question

Realize need to read the argument again in order to answer; re-read argument
Re-read question

Examine answers, eliminating one or several

Read the argument yet again

N oA w N e

Eliminate another answer
Start checking each answer against the argument and re-reading argument

©

Repeat until one answer is left

What's the problem? That’s incredibly inefficient! Inefficiency both wastes time and makes it harder for
us to answer the question correctly. There’s too much going on, and that can distract us from our goal.
So what do we do instead?

Here’s our 4-step approach for all CR questions:

Step 1: Identify the question.

Step 2: Deconstruct the argument.
Step 3: State the Goal.

Step 4: Work from wrong to right.
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